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Section — A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use
lead pencil.

BIOLOGY SSC-II

SECTION - A (Marks 12)
Time allowed: 15 Minutes

Fill the relevant bubble against each question:

Answer Sheet No.

Sign. of Candidate

Sign. of Invigilator

LislSpliS sy 2 ez LuieSindn»
IS Y e e § s Sy

-u:/?,{ﬁ]b :,//Jig,)é’.tréwr/:

Inflammation Air passage
' More mucous Destruction of of bronchi ways become
1 Which one is NOT related to Asthma? is produced C alveoli occurs occurs narrow
‘-‘u"/lgﬁ}.:iﬁ{&"c._,»::/ﬂitff ' 9@]};’;}&) Jlg.Lig_[/l;’)JéU:&l Gl_rnjjrdﬁgﬁs/, u}J‘g%uyL’Jm
o &
Select a mutualistic relationship from the Snake and Man and Termite and
) examples given below. Frog and.a fly O frog mosquito Protozoan
?QUU/J\"/J(J&{&U:!}@/) Lf(AlJi&:’ J//';_:"/:L.’./'l/ /’:mdU‘ d;};’"/.’JH.QJ
An enlarged underground stem having
numerous tiny buds called eyes is: Corm Tuber .~ Rhizome Bulb
3. s p
S bW U T 40 A G ey PO O e O 7 O p2Idu O o
The given diagram is reproductive system of
a male rabbit. Indicate the prostate gland.
4. OA Os8 Oc QOpo
R0l Jﬂf'..‘/."i/_:f! == (‘L‘/:"/}:,;./ (u"'f/'jrl/gb' 1%
5 Select the drug that reduces irritability: Antibiotics O Analgesics Sedatives O Vaccines
‘-"LJ/ [1(-:«:‘! S S oty @L?" LS -"—L’J‘J’TU’C //’
Waxy cuticle Contain
on leaf Their vacuoles Have broad succulent
. Which feature is related to hydrophytes? epidermis is hypertonic O leaves organs
‘ P PSRy {7 e (LT O SUASpr s 2§ O abntb A w75 F i mesd 2o
C‘-L}MJQ ' ' uln
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How many kinds of gametes can be formed
by an organism having a genotype RrYY?

7. te b B L F e rerY i s

Ot 02

O 4 Os

Receives Involves in Concerned Controls
Sensory perceiving with sense of secretion of
8 Select the function of Hypothalamus: O impulse pain smell O pituitary
S‘q__gf\f’&/g_ﬂ J/:ulffd/:’{ ﬁ'_./b,aib’dl}léu) D(JJNC,‘J’J:.'.ZV/ fﬁfgg{fefd}é
c‘_t’/ & q_,t'/d.v)'f
Which of the following can be a source of
vector in genetic engineering? Algae Mushroom Bacteria Plant
9.
o C P e i O O O O,
Inhibit
Are broad bacterial Inhibit folic
spectrum anti protein acid synthesis They are
10. Select the one NOT true for tetracycline () biotics (O synthesis (O in bacteria (O bacteriostatic
?‘ﬁ’.wné.éwﬂwfgﬁﬂ})f Jf@@-ld”]l@')d d/?«!gﬁ;/"ﬂ&/_-fé JA‘{'J]L;&;".C Lﬂ-ﬁ."’fﬁ}g:’
Jt LUG(-’// g.m/fd/gf '

Identify  renal
pelvis in the
11, given diagram:

St S o
LSSk

Os

Oc

In the given diagram indicate the part which

is a component of appendicular skeleton:
12,

??/KJ&‘-’G by o Sy S srS L SB O v
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BIOLOGY SSC-Ii

Time allowed: 2:45 Hours Total Marks Sections B and C 53

NOTE: Answer any eleven parts from section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answer neatly and legibly.

SECTION - B (Marks 33)

Q.2 Answer any ELVEN parts from the following. All parts carry equal marks. (11 x 3 = 33)
(i) Differentiate between lenticels and stomata.
(i) In the given diagram:
(@) Identify the type of cartilage A at the given joint.
(b) Describe its characteristics
(iii) How pressure filtration occurs in a nephron?
(iv) Complete the table

Hormone Name of the Gland

A Calcitonin

B Epinephrine

1 C Insulin

(v) The given diagram ié of a neuron

(a) Label Aand B

(b) What is C? Write down. its function.
How is male gametophyte formegd,in a flowering plant? Q2(v)

(vii) | .Sun is the ultimate source of enerdy ifi.an ecosystem. How this energy is
transferred in various biotic componenis?.

(viii)  In the given diagram label A and B, write déwn their function.

(ix) What is meant by the following terms?

(@) Phenotype (b) Homozygous

x)  How can drugs be obtained from plant and fungi?

Xi) Differentiate between transcription and translation.

Q 2(viii)

xii) ~ Which type of variations show distinct phenotypes? Discuss by giving examples.

(

(

(

(xii) ~ How can the gene of interest be isolated and a recombinant DNA be formed?
(xiv)  What sort of relationship is present in food web? Describe by making a food web?
(

XV) What is the functions of joint? Differentiate between immoveable and slightly moveable joints with

examples.
SECTION - C (Marks 20)
Note: Atterﬁpt any TWO questions from the following. All questions carry equal marks. (2x10=20)
Q.3 a Identify the stages of breathing in the given diagram and explain them. (06)
b. Discuss the osmoregulatory role of kidney. N [ (04)
Q.4 a. Explain reproductive system of a female rabbit. (05)
b. How single cell protein is produced? Describe its significance. {05)
Q.5 a. Explain the monohybrid cross by the help of a Punnett square. (05)
b. How pollution leads to formation of acid rain? Describe major effects of it. (05)
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Section - A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not aliowed. Do not use
lead pericil.

BIOLOGY SSC-li

SECTION - A (Marks 12)
Time allowed: 15 Minutes

Fill the relevant bubble against each question:

Sign. of Candidate

Sign. of Invigilator

LiplSpfeS sy 7 51202 L e s
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Skin colour of

More mucous

Destruction of patient ig produced in
Which of the following options is related to alveolar wall Lung tissue is becomes air
1. Emphysema? oceurs O filed with pus () purplish O pasiageways
et e ORISR SSi AL L i S AAAG Y whi s LU
urdé e X -GS idii 4 &0
Select an example of commensalism from Lion and Termite and Sucker fish )
the foliowing Zebra protozoan and shark O Fox and rabbit
2 3 C) . L'/¢ Lf/. fv‘ )
‘kl/(tf‘f'dwb((}:d’fcufa}éw Lpinl 2 u;);’:/,/;l.,ﬁ.f) S JI7ZHSy
A horizontal underground stem with scale _ o
3 leaves and nodes is called: Tuber O Bulb Rhl}0n1e O 7
' VQJLMy/wLnJ;‘LﬂZ’.V'I{I{/,LﬁLJ’tg}.’:)/_} 2 ! s (s

The given diagram is reproductive system of
a male rabbit. Indicate the vas deferens

GG g P KPP St

Os

Oc

Opb

</
' i love
Digitalis a heart stimulant is obtained from Bacteria Fungi C) Poppy O Foxglov
5. h ; ... O O ., Py
PRV PRGT AT OB ' S¢ e
Lack of Decrease of _
Deficiency of physical growth ([))feg:rrt;'eg:ggon
6. Which may NOT be a cause of Osteoporosis () estrogen aft|V|ty . ) hormone P O s
?C’Cﬁuf}ew(;fu{}:{"ﬁy/c.ufa}éw L{Jgﬁ}/‘-{! u‘u’lu,{//dw JJ@;’;@’: b 85 4
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Presence of Less number
Which of the following is NOT a Have deep parenchyma Have broad of stomata is
7. characteristic of Xerophyte? roots cells leaves present
W et e eSS o S Lok 2t WLne gz Ut L
g

Select the histone_ protein from the diagram

S GsuSuin o d s

Opb

How many kinds of gametes can be formed
9 by an organism having a genotype BbCc?

?c‘-cfw‘fr SBLLAT e Bb Cog?tiZ U sty ]

O 1

O4

Oa2

Os

Helps to Detects
maintain Helps in movement of
10 Which one is NOT the function of inner ear? Balance O Produces wax O hearing O head
?q_uﬁ?}b’ub’&/mv“gu{ c‘-U{ul/./,qu}" c‘,t'l‘/.u{- q..t'/u P-4 V/J/J(J/J/
4—
Select the product which can be used for the
production of bread: Lactic acid Glycerol Ethanol Formic acid
11; - ¢
S bT¥ Ll bd fefiof O YT o O N O J~ O YY)
12 Select a drug reducing irritability: Antibiotic Sedative O Analgesic O Vaccine
: ?9(}/ {J’ fé;“..f J ugzwo” 't Ly [,(?'l a}_ulul’u;c e f u.‘."{:
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Time allowed: 2:45 Hours

o

Total Marks Sections B and C 53

BIOLOGY SSC-lI

NOTE: Answer any eleven parts from section ‘B’ and attempt any two questions from Section ‘C’ on the
separately provided answer book. Write your answer neatly and legibly.
SECTION - B (Marks 33)
Q.2  Answer any ELVEN parts from the following. All parts carry equal marks. (11 x3 =33)

Note:

Q.3

Q.4

(i)
(ii)

Describe the structure and function of larynx.
The given diagram:
(a) Identify the type of cartilage A at the joint.

(b) Describe the characteristic of this cartilage and give example. A
(iii) In which part of nephron selective reabsorption takes place? And how?
(iv) Complete the table:
Hormone Name of Gland .
Q2 (ii)
A Parathormone
B Corticosteroids
Glucagon

(v)

(vi) How is female gametophyte formed.in a flowering plant?

In the given diagram:
(a) Label Aand B
(b) What is C? Write down.its function also.

(vii) What is meant by an ecological pyramid? Explain by making a pyramid of number.

(vii

(ix) What is meant by the following terms?

i)  Inthe given diagram: Q)
(a) Identify the process in the given diagram
(b) Describe B and C stages.

(a) Heterozygous (b) Genotype
Complete the table:
Drugs Effects
A Sedatives
B Hallucinogens
C Heroin Q2(viii)

Differentiate between transcription and translation.

Xii) Describe the variation showing a wide range of phenotypes. Give examples also translation.
i)  What is meant by genetic engineering? Why do we use a microorganism in genetic engineering?
xiv)  What sort of relationship is present in a food chain? Draw a simple food chain also.

(xv) What are moveable joints? Write their types with examples.

oD

SECTION — C (Marks 20)

Attempt any TWO questions from the following. All questions carry equal marks.
- < i

(2x10=20)

(i) Identify the structure in given diagram (06)
(ii) How they are formed?

(iii) Explain their Structure and function. -

Nitrogen fixation is an important step in the nitrogen cycle. What is meant by Nitrogen (04)
List various ways of Nitrogen fixation.

Describe a bone and explain its regions with the help of a diagram (05)
What is fermentation? Discuss the production of fermented food. (05)
Explain the reflex action with the help of a diagram. (05)
Describe two methods of artificial vegetative propagation, of plants. (05)
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